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A.Choosethecorrectoption: 1x5=5

1.1.2348is

(a)aninteger. (b)anirrationalnumber

(c)arationalnumber (d)Noneofthese.

2.HCFoftwonumbersis113,theirLCM is56952.Ifonenumberis904,thenothernumberis:

(a)7719 (b)7119

(c)7791 (d)7911

3.IftheHCFof65and117isexpressibleintheform 65m –117,thenthevalueof‘m’is

(a)2. (b)3

(c)4 (d)1

4.If‘s’and‘t’arethezeroesofaquadraticpolynomialx2-5x+bandx-y=1,thenthevalueof‘b’is

(a)-6. (b)-5

(c)5 (d)6

5.Apolynomialofdegree____iscalledalinearpolynomial.

(a)1 (b)3

(c)2 (d)0

B.Veryshortanswertypequestion: 1x5=5

6.Ashopkeeperhas120litresofpetrol,180litresofdieseland240litresofkerosene.Hewants

toselloilbyfillingthethreekindsofoilsintinsofequalcapacity.Whatshouldbethegreatest

capacityofsuchatin?

7.Writethedenominatoroftherationalnumber257/500intheform 2mx5n,wherem andnare

non-negativeintegers.Hencewriteitsdecimalexpansionwithoutactualdivision.



8.If9x+2=240+9x,thenfindthevalueofx.

9.Whichofthefollowingispolynomial?

10.Thesum andproductofthezerosofaquadraticpolynomialare2and-15respectively.

Findthequadraticpolynomial.

C.Shortanswertypequestion:2x5=10

11.Whatmustbeaddedto6x⁵+5x⁴11x³-3x²+x+5sothatitmaybeexactlydivisibleby3x²-2x+4?

12.Findallzerosoff(x)=2x³-7x²+3x+6ifitstwozerosare-√(3/2)and(√3/2).

13.UsingEuclid’sdivisionalgorithm,findwhetherthepairofnumbers847,2160arecoprimes

ornot.

14.Provethatthesquareofanypositiveintegerisoftheform 3m or,3m +1butnotoftheform

3m +2.

15.Thereare156,208and260studentsingroupsA,BandCrespectively.Busesaretobehired

totakethem forafieldtrip.Findtheminimum numberofbusestobehired,ifthesamenumber

studetsshouldbeaccommodatedineachbus.
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